Math 102

Show all work (and answers) on the blank

Exam #2 paper provided. Write only your name on this || Name:
Spring 2009 |[Paper:
] 10 1) Compute the following in the
a o .
|nd|c:),a17t'(z‘ctj3 base.BS4 e. 3145x42;
g' 2113‘2 +233 12 f. 1525 = 4¢ (stop when remainder is 0)
1ib | 10 c‘ E929‘:e_— 8F,4°\816 g. 2363 =+ 73 (identify a repeating pattern)
d. 562, X 4, h. 40325;+215 (stop at 5 > place value)
1ic | 10
2) Determine which of the five properties of a commutative group hold in the mathematical system
1d | 10 consisting of the even integers {...,—6,—4,—2, 0, 2, 4, 6,...} under subtraction. If a
property fails, give a counterexample. If a property holds, explain why.
1e | 10 3) Determine which of the five properties of a commutative group hold in the mathematical system
consisting of the irrational numbers under multiplication. If a property fails, give a
counterexample. If a property holds, explain why.
1f | 10
4) For the given system determine which of the five properties of a commutative group hold.
(-] Q b c
1g | 10
a b Q c
1h | 10 b ¢ b a
c Q c b
2 | 30 . . . : . .
5) For the given system determine which of the five properties of a commutative group hold.
X r ~ \Y% .
3 | 30
r r ~ v .
~ ~ \Y
4 | 30 J i
\Y \Y% 4 M ~
5 30 = = M A \Y%
6) Determine the sum or difference in clock-7 arithmetic:
6a | 5 a. 7+9 b. 2-3 c. 4—(3+12)
°l° AXIOMS
Al) IfabeZ,thena+beZ and a-b€Z
6c | 5
A2) IfabeR, thena+bceR and a-beR
total | 215 A3) a4+ (b+c)=(a+b)+c for any a,b,c € R
A4) a-(b-c)=(a-b)-c for any a,b,c € R
Ad. A5) a+b=0b+a forany a,beR
A6) a-b=0b-a for any a,b € R
%




